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; 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 4.52 56.38 | ThUS | 000 ~ 452|191 10.23 znLs 1.00 | 5.00 ~ 5.00 56.38 | =nLS | 5,00 ~ 500 1.91 10.23
2 100kN/mMZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#Z B -~ — —
ZznLst 1.00 | 000 ~ 5.61 70.05 | =nLs | 000 ~ 561 1.94 10.37 znLs 1.00 | 5.00 ~ 6.72 70.05 | TnRS | 600 ~ 6.72 | 1.94 10.37
3 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#Z B -~ — — —
ZznLst 1.00 1 000 ~ 6.15 7714 | #nLSY | 000 ~ 0.00)1.67 8.92 znLs 1.00 | 5.00 ~ 7.20 77.14 | FhUS | 5.00 ~ 720 | 1.67 8.92
4 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#Z B -~ — — —
ZznLst 1.00 | 000 ~ 6.39 80.39 | =hst | 0o0o ~ 639|177 9.48 znLs 1.00 | 5.00 ~ 752 80.39 | #nLS | 6.00 ~ 7.62|1.77 9.48
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ZznLst 1.00 1 000 ~ 757 96.93 | =hS | 000 ~ 757|235 12.58 znLs 1.00 1 6.00 ~ 1048 96.93 | #nLS | 65,00 ~ 1048)2.35 12.58
6 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 000 ~ 741 94.61 | =hUs | 000 ~ 741|197 10.563 znLs 1.00 1 6.00 ~ 10.72 94.61 | =nLS | 5,00 ~ 1072)] 1.97 10.53
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ZhLSH ~ ThLlst ~ LS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 25 ~ ImEFEZD ~
ZhLSH ~ ThLlst ~ LS ~ ThES ~
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TS ~ ThLLst ~ NS ~ ThES ~
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HFR




